Round 1:
sc 12 times inside the loop (for a total of 12 sts)

Single Crochet 12 times inside of the circle

yarn over and
then pull the circle
over the hook

hold the circle to
the side and
put your hook
through center
of the circle

create 12 single
yarnoveragain  crochet stitches

and pull the into the circle
bottom two
up and over

the hook




Round 2:

sc in next sc, 2 sc in next sc 6 times (for a total of 18 sts)

Patternis: 1 2 1212121212=18

put a stitch
counter
through
the stitch
behind the
hook

remember that a stitch
is both parts of the V

yarn over and
pull the stitch up

. 8 and over
\ leaving
[ _ two loops
on the hook

put two single crochet
stitches into the next stitch

' l put your hook

h through the first

yarn over again and pull the
two loops up and over

leaving just
one loop

thatis
1single
crochet

you should
have 18
stitches




Round 3:
sc in next 2 sc, 2 sc in next sc 6 times (for a total of 24 sts)

Patternis:1 1 2 11 2 112 112112112-=24

continue the pattern until you're
back at the stitch counter

you should

have 24
stitches

Round 4:

sc in next 3 sc, 2 scin next sc 6 times (for a total of 30 sts)

Patternis:111211121112111211121112-=30

you should
have 30
stitches




Round 5:

sc in next 4 sc, 2 sc in next sc 6 times (for a total of 36 sts)

Patternis:111121111211112111121111211112-=236

you should
have 36
stitches

Round 6 — 12:

Sc in next sc (36 sts

crochet 6
rounds of 36
stitches

single crochet
inall 36
stitches




Round 13:
Dec, scin next 4 sc 6 times (for a total of 30 stitches)
Patternis:D1111D1111D1111D1111D1111D1111 =30

put your hook through
the next stitch to

combine the stitches

together

put your hook through the
first stitch

yarn over and
pull through the
first stitch

4,

yarn over and pull yarn over again and
‘ through just the stitch 3 pull through all

three loops

. ) put your hook through
this completes your first decrease . .
the next stitch and stitch
one single crochet into
that stitch




Round 14:
Dec, sc in next 3 sc 6 times (for a total of 24 stitches)

Patternis:D111D111D111D111D111D111=24

you should
have 24
stitches ___

Round 15:
Dec, sc in next 2 sc 6 times (for a total of 18 stitches)

Patternis:D11D11D11D11D11D11-=18

you should have 18 stitches

tightly stuff the
pumpkin with fiber fill




Round 16:

Dec, sc in next 1 sc 6 times (for a total of 12 stitches)
Patternis:D1 D1 D1D1D1D1=12

Round 17:

Dec, until the hole is closed

decrease until the hole is closed tie a knot and tuck in the tail

Assembly

thread the needle through the
pumpkin from base to stem

weave through
the decreases

and tie a knot at
base to sculpt

Repeat for all six sections and weave in all ends.



